

June 17, 2015

8.3 #15) $x\sqrt{9xy^2} + 4\sqrt{x^2y^2}$

$$\boxed{3xy\sqrt{x}} + \boxed{4xy\sqrt{x}}$$

$$\boxed{7xy\sqrt{x}}$$

Jun 17-2:14 PM

Conjugate Pairs

$$(a + b)(a - b)$$

$$a^2 - \cancel{ab} + \cancel{ab} - b^2$$

$$\boxed{a^2 - b^2}$$

← Difference of Two Squares

$$\boxed{16x^2} - \boxed{49}$$

$$a^2 - b^2$$

$a = 4x$
 $b = 7$

$$(4x + 7)(4x - 7)$$

Jun 17-2:21 PM

$$\boxed{16x^2} - \boxed{5}$$

$$a^2 \quad b^2$$

$a = 4x$ $b = ? = \sqrt{5}$

$$\boxed{(4x + \sqrt{5})(4x - \sqrt{5})}$$

$$\boxed{\begin{matrix} \sqrt{5} \cdot \sqrt{5} \\ = \sqrt{5 \cdot 5} \\ = \sqrt{25} = 5 \end{matrix}}$$

$$16x^2 - \cancel{4x\sqrt{5}} + \cancel{4x\sqrt{5}} - 5$$

$$16x^2 - 5$$

Jun 17-2:27 PM

$$x^2 - 2$$

$$(x + \sqrt{2})(x - \sqrt{2})$$

Jun 17-2:32 PM

8.4 #50)

$$\boxed{(\sqrt{a} - 1)(a - \sqrt{a} + 1)}$$

$$\sqrt{a}(a) - \sqrt{a}(\sqrt{a}) + \sqrt{a}(1) - 1(a)$$

$$-(-1)(\sqrt{a}) + (-1)(1)$$

$$a\sqrt{a} - a + \sqrt{a} - a + \sqrt{a} - 1$$

$$\boxed{a\sqrt{a} - 2a + 2\sqrt{a} - 1}$$

Jun 17-2:34 PM

8.4 #59)

$$\boxed{(\sqrt[4]{2x} - 1)(\sqrt[4]{8x^3} - 2)}$$

$$\sqrt[4]{16x^4} - 2\sqrt[4]{2x} - \sqrt[4]{8x^3} + 2$$

$$\boxed{2x - 2\sqrt[4]{2x} - \sqrt[4]{8x^3} + 2}$$

Jun 17-2:43 PM

* Quiz #5 - 8.3 Addition
 * Working on 8.4 m3

Jun 17-2:52 PM

8.5 Division of Radicals
 * A key practice: not leaving radical in the denominator.
 "Rationalizing the Denominator"

Jun 17-2:53 PM

$$\frac{2}{\sqrt{3}} \cdot \frac{\sqrt{3}}{\sqrt{3}} = \frac{2\sqrt{3}}{\sqrt{9}} = \frac{2\sqrt{3}}{3}$$

↑ Rationalize this!

Jun 17-2:56 PM

$$\frac{4x}{\sqrt{8}} = \frac{4x}{2\sqrt{2}} = \frac{2x}{\sqrt{2}} \cdot \frac{\sqrt{2}}{\sqrt{2}} = \frac{2x\sqrt{2}}{2} = x\sqrt{2}$$

or

$$\frac{4x}{\sqrt{8}} \cdot \frac{\sqrt{8}}{\sqrt{8}} = \frac{4x\sqrt{8}}{8} = \frac{x\sqrt{8}}{2} = \frac{x\sqrt{4 \cdot 2}}{2} = \frac{2x\sqrt{2}}{2} = x\sqrt{2}$$

Jun 17-3:01 PM

$$\frac{a}{\sqrt{b}} \cdot \frac{\sqrt{b}}{\sqrt{b}} = \frac{a\sqrt{b}}{\sqrt{b^2}} = \frac{a\sqrt{b}}{b}$$

only thing needing to be rationalized

Jun 17-3:06 PM

$$\frac{xy}{2\sqrt{x}} \cdot \frac{\sqrt{x}}{\sqrt{x}} = \frac{xy\sqrt{x}}{2x}$$

$$= \frac{\cancel{x} \cdot y \cdot \sqrt{x}}{\cancel{x} \cdot 2} = \frac{y\sqrt{x}}{2}$$

Jun 17-3:08 PM

Quotient Rule

$$\sqrt[n]{\frac{a}{b}} = \frac{\sqrt[n]{a}}{\sqrt[n]{b}}$$

$$\sqrt[3]{\frac{a}{27}} = \frac{\sqrt[3]{a}}{\sqrt[3]{27}} = \frac{\sqrt[3]{a}}{3}$$

Jun 17-3:13 PM

$$\sqrt{\frac{4}{x}} = \frac{\sqrt{4}}{\sqrt{x}} = \frac{2}{\sqrt{x}} \cdot \frac{\sqrt{x}}{\sqrt{x}} = \frac{2\sqrt{x}}{x}$$

Jun 17-3:16 PM

$$\sqrt[3]{\frac{125}{8}} = \frac{\sqrt[3]{125}}{\sqrt[3]{8}} = \frac{5}{2}$$

Jun 17-3:18 PM

$$\sqrt[3]{\frac{6y}{64}} + \frac{3\sqrt[3]{6y}}{1}$$

$$\frac{\sqrt[3]{6y}}{\sqrt[3]{64}} + \frac{3\sqrt[3]{6y}}{1}$$

$$\frac{\sqrt[3]{6y}}{4} + \frac{3\sqrt[3]{6y}}{1} = \frac{\sqrt[3]{6y} + 12\sqrt[3]{6y}}{4}$$

$$= \frac{13\sqrt[3]{6y}}{4}$$

Jun 17-3:20 PM